K0748

EaLAE HAS TR0 U= B

A olHlA Zpixy
=5 4Y/HIE o[0ix|

>
\(«:, g

© HEINRICH KIPP WERK GmbH & Co. KG

o
(=) -0
S HFMO| ECO AE! =2 AH|oly
oY
THE!:
AR T
23 E Faxiel = x| oS,
AElLIA} 22|E.
2 El1.4305.

=M OIF2|

AR

a2 E, Fstlx| S

LEAF £ 21, FA T2t 2

¥z E E™83a

AHQIBA AR HT

g3 Mel=lx| o2 ®a E

AR RE 2

HH.

A ZHXE FH HZ Qa &3 X7 HetAH 2l= AE LK
&t7| 215 AFSELICH HX EESE £8522 ZE0{0f2F CHE &3 X
2 0|SE = A&LIch EF LIAHA D} HIdAF & HIFS HFEO| JUE

OleiA BRX|E 7| QIElA B2iXE XHE HIZOR CIXE 4 2
S MBYULIC T2 e A8 EojollM o HEO| HUTH SE8
Ut S5t W2 RIZ B3 2 15} 0| MIES QIElA BHXIE ATHE &
olEol Hug m WAE s X B2l e i8S JHELIC

a2 Al RIRE A X E2E 24

ax

Al

E4 MA HE.

=0 M.

EIAA &2 &2 93, A2 HE QI8
etelB: 52 &% 918, &3 e 28
ElUC: &2 &R U2, B2 HE AH3
EtelD: &3 &% 98, &3 UE 98

www.kipp.com - info@kipp.com 1/4



=y | - —_—
—E}*E' B{ e Jglo] U= B2 HEQ ECO 28 2 2H|2lE|
A |I:-IIA E,l_-lx-l
_'.=_'='._1
® ©
02 o b2
j ] | |
| :
r | Sw1 “TL]=’ { ‘ Swi
— __t'\J4 i — __‘T\IJ !
~ | . ;‘j ~y I |
] . SW2 w !
A
Dyg Do
o, Jor|
E=5 2%
w2 ElQ] ECO 2IHIA Z8ix]
=2 Hs EFQl BEA AZE D D1 D2 L L1L2 AEE3 SW1 SW2 Fx30° A& By = E3
S EE EX-3 max. Nm
F12%. N F2 2N
K0748.01004060 A AE 4 M6 18 295 6 6 4 10 - 1 35 9 2
K0748.01004061 A AE] 4 M6x0,75 18 295 6 6 4 10 - 1 35 9 2
K0748.01004080 A AE 4 M8 18295 6 6 4 10 - 1 35 9 2
K0748.01004081 A AE 4 M8x1 18 295 6 6 4 10 - 1 35 9 2
K0748.01105080 A AEl 5 M8 213458 7 5 13 - 1,3 6 12 7
K0748.01105081 A AE 5 M8x1 21345 8 7 5 13 - 1,3 6 12 7
K0748.01105100 A AE 5 M10 21345 8 7 5 13 - 1,3 6 12 7
K0748.01105101 A AE] 5 M10x1 21 345 8 7 5 13 - 1,3 6 12 7
K0748.01206100 A AE 6 M10 25 41,7 10 8 6 14 - 1,8 6 12 15
K0748.01206101 A AE 6 M10x1 25 41,7 10 8 6 14 - 1,8 6 12 15
K0748.01206120 A AEl 6 M12 25417 10 8 6 14 - 1,8 6 12 15
K0748.01206121 A AE 6 M12x1,5 25 41,7 10 8 6 14 - 1,8 6 12 15
K0748.01308120 A AE 8 M12 33 54 1210 8 19 - 2,3 6 13 20
K0748.01308121 A AR 8 M12x1,5 33 54 1210 8 19 - 2,3 6 13 20
K0748.01308160 A AE 8 M16 33 54 1210 8 19 - 2,3 6 13 20
K0748.01308161 A AE] 8 M16x1,5 33 54 1210 8 19 - 2,3 6 13 20
K0748.01903060 A AEl 3 M6 14 255 6 5 3,5 8 - 0,8 3,5 8 2
K0748.01903061 A AE 3 M6x0,75 14 255 6 5 3,5 8 - 0,8 35 8 2
K0748.11004060 A  AEIQIBIAAEl 4 M6 18 295 6 6 4 10 - 1 35 9 2
K0748.11004061 A AHQIBA AE 4 M6x0,75 18 295 6 6 4 10 - 1 3,5 9 2
K0748.11004080 A  AEIQIBAAEl 4 M8 18 295 6 6 4 10 - 1 35 9 2
K0748.11004081 A  AE|QIBIA AEl 4 M8x1 18 295 6 6 4 10 - 1 35 9 2
K0748.11105080 A AEIQIHA AE 5 M8 21 345 8 7 5 13 - 1,3 6 12 7
K0748.11105081 A  AEIQIBA AEl 5 M8x1 21345 8 7 5 13 - 1,3 6 12 7
K0748.11105100 A AERIBA ARl 5 M10 21 345 8 7 5 13 - 1,3 6 12 7
K0748.11105101 A  AEIQIBA AEl 5 M10x1 21 345 8 7 5 13 - 1,3 6 12 7
K0748.11206100 A  AEIQIBAAEl 6 M10 25 41,7 10 8 6 14 - 1,8 6 12 15
K0748.11206101 A  AEIQIEIA AEl 6 M10x1 25 41,7 10 8 6 14 - 1,8 6 12 15
K0748.11206120 A AHQIBIA AE 6 M12 25 41,7 10 8 6 14 - 1,8 6 12 15
K0748.11206121 A  AEIQIBIA AEl 6 M12x1,5 25 41,7 10 8 6 14 - 1,8 6 12 15
K0748.11308120 A AEQIBA ARl 8 M12 33 54 1210 8 19 - 2,3 6 13 20
K0748.11308121 A AHQIPA AR 8 M12x1,5 33 54 1210 8 19 - 2,3 6 13 20
K0748.11308160 A  AHQIBIAAE 8 M16 33 54 1210 8 19 - 2,3 6 13 20
K0748.11308161 A AH|IQIBIA A 8 M16x1,5 33 54 1210 8 19 - 2,3 6 13 20
K0748.11903060 A AEIQIBAAE 3 M6 14 255 6 5 35 8 - 0,8 35 8 2
K0748.11903061 A  AEIQIBA AEl 3 M6x0,75 14 255 6 5 3,5 8 - 0,8 35 8 2
K0748.02004060 B AEl 4 M6 18 295 6 6 4 10 10 1 3,5 9 2
K0748.02004061 B AEl 4 M6x0,75 18 295 6 6 4 10 10 1 35 9 2
K0748.02004080 B AE 4 M8 18295 6 6 4 10 13 1 35 9 2

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com

2/4



© HEINRICH KIPP WERK GmbH & Co. KG

()
== = | - -
SZtAE HAYE J8l0] e 2 X2 ECO 2B =2 AH|o1y|
=]
A OlEIA =X
Z= Q0
By B =AM D DI D2 L Li1L2 AEE3 SW1 SW2 Fx30° A[F Bld ZYE3
S EbN EX=3 max. Nm
F12EN F22.N

K0748.02004081 B AEl 4  M8x1 18 29,5 6 6 4 10 13 1 3,5 9 2
K0748.02105080 B AE] 5 M8 21 345 8 7 5 13 13 1,3 6 12 7
K0748.02105081 B AE! 5 M8x1 21 345 8 7 5 13 13 1,3 6 12 7
K0748.02105100 B AEl 5 M10 21 345 8 7 5 13 17 1,3 6 12 7
K0748.02105101 B AEl 5 M10x1 21 345 8 7 5 13 17 1,3 6 12 7
K0748.02206100 B AEl 6 M10 25 41,7 10 8 6 14 17 1,8 6 12 15
K0748.02206101 B AEl 6 M10x1 25 41,7 10 8 6 14 17 1,8 6 12 15
K0748.02206120 B AEl 6 M12 25 41,7 10 8 6 14 19 1,8 6 12 15
K0748.02206121 B AEl 6 M12x1,5 25 41,7 10 8 6 14 19 1,8 6 12 15
K0748.02308120 B AE! 8 M12 33 54 1210 8 19 19 2,3 6 13 20
K0748.02308121 B AE] 8 M12x1,5 33 54 1210 8 19 19 2,3 6 13 20
K0748.02308160 B AEl 8 M16 33 54 1210 8 19 24 2,3 6 13 20
K0748.02308161 B AR 8 M16x1,5 33 54 1210 8 19 24 2,3 6 13 20
K0748.02903060 B AEl 3 M6 14 255 6 5 3,5 8 10 0,8 3,5 8 2
K0748.02903061 B AE! 3 M6x0,75 14 255 6 5 3,5 8 10 0,8 3,5 8 2
K0748.12004060 B AEQIBA ARl 4 M6 18 295 6 6 4 10 10 1 3,5 9 2
K0748.12004061 B AHQEA AR 4 M6x0,75 18 295 6 6 4 10 10 1 3,5 9 2
K0748.12004080 B AEQIBA AR 4 M8 18 29,5 6 6 4 10 13 1 3,5 9 2
K0748.12004081 B AHIQIBA AR 4 M8x1 18 295 6 6 4 10 13 1 3,5 9 2
K0748.12105080 B AHQIBA AEl 5 M8 21 345 8 7 5 13 13 1,3 6 12 7
K0748.12105081 B AHIQIBA AR 5 M8x1 21 345 8 7 5 13 13 1,3 6 12 7
K0748.12105100 B AERIBA ARl 5 M10 21 345 8 7 5 13 17 1,3 6 12 7
K0748.12105101 B AHQIPA AR 5 M10x1 21 345 8 7 5 13 17 1,3 6 12 7
K0748.12206100 B AE|QIBA ARl 6 M10 25 41,7 10 8 6 14 17 1,8 6 12 15
K0748.12206101 B AHIQIBIA AR 6 M10x1 25 41,7 10 8 6 14 17 1,8 6 12 15
K0748.12206120 B AHQIBIA AE 6 M12 25 41,7 10 8 6 14 19 1,8 6 12 15
K0748.12206121 B AHIQIBA AR 6 M12x1,5 25 41,7 10 8 6 14 19 1,8 6 12 15
K0748.12308120 B AH|IQIBIA AE 8 M12 33 54 1210 8 19 19 2,3 6 13 20
K0748.12308121 B AHEQIPA AR 8 M12x1,5 33 54 1210 8 19 19 2,3 6 13 20
K0748.12308160 B AE|QIBA ARl 8 M16 33 54 1210 8 19 24 2,3 6 13 20
K0748.12308161 B AEQIPA AR 8 M16x1,5 33 54 1210 8 19 24 2,3 6 13 20
K0748.12903060 B AHQIBA AE 3 M6 14 255 6 5 3,5 8 10 0,8 3,5 8 2
K0748.12903061 B AHIQIBA AR 3 M6x0,75 14 255 6 5 3,5 8 10 0,8 3,5 8 2
K0748.03004060 C AE] 4 M6 18 295 6 6 4 10 - 1 3,5 9 2
K0748.03004061 C AE] 4 M6x0,75 18 295 6 6 4 10 - 1 3,5 9 2
K0748.03004080 C AE! 4 M8 18 29,5 6 6 4 10 - 1 3,5 9 2
K0748.03004081 C AE] 4  M8x1 18 295 6 6 4 10 - 1 3,5 9 2
K0748.03105080 C AE 5 M8 21 345 8 7 5 13 - 1,3 6 12 7
K0748.03105081 C AE] 5 M8x1 21 345 8 7 5 13 - 1,3 6 12 7
K0748.03105100 C AEl 5 M10 21 345 8 7 5 13 - 1,3 6 12 7
K0748.03105101 C AE! 5 M10x1 21 345 8 7 5 13 - 1,3 6 12 7
K0748.03206100 C AE! 6 M10 25 41,7 10 8 6 14 - 1,8 6 12 15
K0748.03206101 C AEl 6 M10x1 25 41,7 10 8 6 14 - 1,8 6 12 15
K0748.03206120 C AE! 6 M12 25 41,7 10 8 6 14 - 1,8 6 12 15
K0748.03206121 C AES 6 M12x1,5 25 41,7 10 8 6 14 - 1,8 6 12 15
K0748.03308120 Cc AR 8 M12 33 54 1210 8 19 - 2,3 6 13 20
K0748.03308121 C AEl 8 M12x1,5 33 54 1210 8 19 - 2,3 6 13 20
K0748.03308160 C AEl 8 M16 33 54 1210 8 19 - 2,3 6 13 20
K0748.03308161 Cc AR 8 M16x1,5 33 54 1210 8 19 - 2,3 6 13 20
K0748.03903060 C AEl 3 M6 14 255 6 5 3,5 8 - 0,8 3,5 8 2
K0748.03903061 C AES 3 M6x0,75 14 255 6 5 3,5 8 - 0,8 3,5 8 2
K0748.13004060 C AH|QIBIA AE 4 M6 18 29,5 6 6 4 10 - 1 3,5 9 2
K0748.13004061 C AHIQIBA AR 4 M6x0,75 18 295 6 6 4 10 - 1 3,5 9 2
K0748.13004080 C AERIBA ARl 4 M8 18 295 6 6 4 10 - 1 3,5 9 2
K0748.13004081 C AHQIBIA AR 4 M8x1 18 295 6 6 4 10 - 1 3,5 9 2
K0748.13105080 C AEQIBA ARl 5 M8 21 345 8 7 5 13 - 1,3 6 12 7
K0748.13105081 C AHIQIBA AR 5 M8x1 21 345 8 7 5 13 - 1,3 6 12 7
K0748.13105100 C AHQIBA AEl 5 M10 21 345 8 7 5 13 - 1,3 6 12 7
K0748.13105101 C AHIQIBA AR 5 M10x1 21 345 8 7 5 13 - 1,3 6 12 7
K0748.13206100 C AEQIBA ARl 6 M10 25 41,7 10 8 6 14 - 1,8 6 12 15
K0748.13206101 C AEQIPA AR 6 M10x1 25 41,7 10 8 6 14 - 1,8 6 12 15

www.kipp.com - info@kipp.com



()
== = | - -
S2tAE A O8l0] U= B2 B{M 2| ECO AE! =2 AH|Q12|
]
A OlEIA =X
Z= Q0
E=TN S EFQ] R ES] D D1 D2 L L1L2 2EZ3 SW1 SW2 Fx30° A& EbA T E3
S EbN EX=3 max. Nm
F12 N F229.N

K0748.13206120 C AEPPIHAAE 6 M12 2541710 8 6 14 - 1,8 6 12 15
K0748.13206121 CcC 2EQlEa A8 6 M12x1,5 25 41,7 10 8 6 14 - 1,8 6 12 15
K0748.13308120 C AHPQHAAE 8 M12 33 54 1210 8 19 - 2,3 6 13 20
K0748.13308121 C AHIQIYA AE 8 M12x1,5 33 54 1210 8 19 - 2,3 6 13 20
K0748.13308160 C AH|IQIBIA AE 8 M16 33 54 1210 8 19 - 2,3 6 13 20
K0748.13308161 C AHQIYA AE 8 M16x1,5 33 54 1210 8 19 - 2,3 6 13 20
K0748.13903060 CcC 2EQlEa A8 3 M6 14 255 6 5 3,5 8 - 0,8 3,5 8 2
K0748.13903061 C AHEQIPA AR 3 M6x0,75 14 255 6 5 3,5 8 - 0,8 3,5 8 2
K0748.04004060 D AE 4 M6 18 29,5 6 6 4 10 10 1 3,5 9 2
K0748.04004061 D AE 4 M6x0,75 18 295 6 6 4 10 10 1 3,5 9 2
K0748.04004080 D AEl 4 M8 18 295 6 6 4 10 13 1 3,5 9 2
K0748.04004081 D AE] 4 M8x1 18 295 6 6 4 10 13 1 3,5 9 2
K0748.04105080 D AE] 5 M8 21 345 8 7 5 13 13 1,3 6 12 7
K0748.04105081 D AE 5 M8x1 21345 8 7 5 13 13 1,3 6 12 7
K0748.04105100 D AE] 5 M10 21345 8 7 5 13 17 1,3 6 12 7
K0748.04105101 D AE 5 M10x1 21345 8 7 5 13 17 1,3 6 12 7
K0748.04206100 D AR 6 M10 2541710 8 6 14 17 1,8 6 12 15
K0748.04206101 D AE] 6 M10x1 25 41,7 10 8 6 14 17 1,8 6 12 15
K0748.04206120 D AEl 6 M12 2541710 8 6 14 19 1,8 6 12 15
K0748.04206121 D AEl 6 M12x1,5 25 41,7 10 8 6 14 19 1,8 6 12 15
K0748.04308120 D AE 8 M12 33 54 1210 8 19 19 2,3 6 13 20
K0748.04308121 D AR 8 M12x1,5 33 54 1210 8 19 19 2,3 6 13 20
K0748.04308160 D AEl 8 M16 33 54 1210 8 19 24 2,3 6 13 20
K0748.04308161 D AE 8 M16x1,5 33 54 1210 8 19 24 2,3 6 13 20
K0748.04903060 D AE 3 M6 14 255 6 5 3,5 8 10 0,8 3,5 8 2
K0748.04903061 D AR 3 M6x0,75 14 255 6 5 3,5 8 10 0,8 3,5 8 2
K0748.14004060 D AHZQIHA AR 4 M6 18 29,5 6 6 4 10 10 1 3,5 9 2
K0748.14004061 D AE|QIHA AB 4 M6x0,75 18 295 6 6 4 10 10 1 3,5 9 2
K0748.14004080 D AHZQBEA AR 4 M8 18 29,5 6 6 4 10 13 1 3,5 9 2
K0748.14004081 D AHPQIMAAR 4 M8x1 18 295 6 6 4 10 13 1 3,5 9 2
K0748.14105080 D  AHIQBIA AR 5 M8 21345 8 7 5 13 13 1,3 6 12 7
K0748.14105081 D AHPQIBAAR 5 M81 21345 8 7 5 13 13 1,3 6 12 7
K0748.14105100 D AHPQIBAAR 5 M10 21345 8 7 5 13 17 1,3 6 12 7
K0748.14105101 D AHQBAAE 5 M10x1 21 345 8 7 5 13 17 1,3 6 12 7
K0748.14206100 D AHPQBAAR 6 M10 25 41,7 10 8 6 14 17 1,8 6 12 15
K0748.14206101 D AHPQIBA AR 6 M10x1 25 41,7 10 8 6 14 17 1,8 6 12 15
K0748.14206120 D AHPQBAAER 6 M12 25417 10 8 6 14 19 1,8 6 12 15
K0748.14206121 D AHZQIEA AR 6 M12x1,5 25 41,7 10 8 6 14 19 1,8 6 12 15
K0748.14308120 D AHPQIHAAR 8 M12 33 54 1210 8 19 19 2,3 6 13 20
K0748.14308121 D AEQIPA AR 8 M12x1,5 33 54 1210 8 19 19 2,3 6 13 20
K0748.14308160 D AHPQIEAAR 8 M16 33 54 1210 8 19 24 2,3 6 13 20
K0748.14308161 D AHZQIA AR 8 M16x1,5 33 54 1210 8 19 24 2,3 6 13 20
K0748.14903060 D AHIQIBIA AE 3 M6 14 255 6 5 3,5 8 10 0,8 3,5 8 2
K0748.14903061 D AHZQIEA AR 3 M6x0,75 14 255 6 5 3,5 8 10 0,8 3,5 8 2

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

4/4



